

$$(1! + 2! + 3! + \dots + 20!) (1! + 2! + 3! + \dots + 20!) =$$

$$(1 + 2 + 3 + \dots + 20) (1 + 2 + 3 + \dots + 20) = 210 \times 210 = 44100$$

رقم یکان ۲

الف)  $\sqrt{(2+\sqrt{3})^{-1}} \sqrt{1+\sqrt{2}} = (2+\sqrt{3})^{-1} = \frac{1}{2+\sqrt{3}} \times \frac{2-\sqrt{3}}{2-\sqrt{3}} = \frac{2-\sqrt{3}}{4-3} = 2-\sqrt{3}$

$$\sqrt{\frac{(2-\sqrt{3})^2}{18}} \sqrt{1+\sqrt{2}} = \frac{\sqrt{2-\sqrt{3}} \sqrt{1+\sqrt{2}}}{\sqrt{18}} = \frac{\sqrt{2-\sqrt{3}} \sqrt{1+\sqrt{2}}}{3\sqrt{2}} = \frac{\sqrt{2-\sqrt{3}} \sqrt{1+\sqrt{2}}}{3\sqrt{2}}$$

ب)  $\left(\frac{\sqrt{2+\sqrt{3}}}{\sqrt{10+2}}\right) \left(\frac{\sqrt{3-\sqrt{3}}-\sqrt{3+\sqrt{3}}}{A}\right) = \frac{\sqrt{2+\sqrt{3}}}{\sqrt{2(\sqrt{5}+\sqrt{2})}} = \frac{1}{\sqrt{2}}$

$A^2 = 3\sqrt{3} + 3\sqrt{3} - 2\sqrt{9-3} = 6\sqrt{3} - 2\sqrt{6} = 2\sqrt{3}(3-\sqrt{2})$

$\Rightarrow \frac{1}{\sqrt{2}} \times \sqrt{2} = 1$

الف)  $\frac{\sqrt{2+\sqrt{3}}}{2-\sqrt{3}} - 2(2\sqrt{3}-1)^{-1} = \left(\frac{2\sqrt{2+\sqrt{3}}}{2-\sqrt{3}}\right) \left(\frac{2+\sqrt{3}}{2-\sqrt{3}}\right) - \left(\frac{2}{\sqrt{3}-1}\right) \left(\frac{\sqrt{3}+1}{\sqrt{3}+1}\right) =$

$$\frac{2\sqrt{2+\sqrt{3}}(2+\sqrt{3})}{(2-\sqrt{3})(2+\sqrt{3})} - \frac{2(\sqrt{3}+1)}{(\sqrt{3}-1)(\sqrt{3}+1)} = \frac{2\sqrt{2+\sqrt{3}}(2+\sqrt{3})}{4-3} - \frac{2(\sqrt{3}+1)}{3-1} = 2\sqrt{2+\sqrt{3}}(2+\sqrt{3}) - 2(\sqrt{3}+1)$$

ب)  $\frac{\sqrt{2-\sqrt{3}}}{2-\sqrt{3}} + (2-\sqrt{3})^{-1} = \frac{2\sqrt{2-\sqrt{3}}}{2-\sqrt{3}} + \frac{1}{2-\sqrt{3}} = \frac{2\sqrt{2-\sqrt{3}} + 1}{2-\sqrt{3}}$

$$\frac{2\sqrt{2-\sqrt{3}} + 1}{2-\sqrt{3}} \times \frac{2+\sqrt{3}}{2+\sqrt{3}} = \frac{(2\sqrt{2-\sqrt{3}} + 1)(2+\sqrt{3})}{4-3} = (2\sqrt{2-\sqrt{3}} + 1)(2+\sqrt{3}) = 4\sqrt{2-\sqrt{3}} + 2\sqrt{3} + 2 + \sqrt{3}$$

الف)  $\frac{\sqrt{1+\sqrt{3}} + \sqrt{\sqrt{3}-1}}{\sqrt{\sqrt{3}-\sqrt{2}}} - 2 = A \Rightarrow A^2 = \frac{\sqrt{3}+1 + \sqrt{3}-1 + 2\sqrt{3-1}}{\sqrt{3}-\sqrt{2}} = \frac{2\sqrt{3} + 2\sqrt{2}}{\sqrt{3}-\sqrt{2}}$

$$2 \left(\frac{\sqrt{3}+\sqrt{2}}{\sqrt{3}-\sqrt{2}}\right) \times \frac{\sqrt{3}+\sqrt{2}}{\sqrt{3}+\sqrt{2}} = 2(\sqrt{3}+\sqrt{2})^2 \Rightarrow A = \sqrt{2}(\sqrt{3}+\sqrt{2}) = \sqrt{2} + 2 \Rightarrow A - 2 = \sqrt{2}$$

ب)  $\sqrt[2]{2^{\frac{1}{2}}} \times \sqrt[4]{14^{\frac{1}{2}}} \times \sqrt[3]{2^{\frac{1}{2}}} = 2^{\frac{1}{4}} (14^{\frac{1}{4}})^{\frac{1}{2}} \times (2^{\frac{1}{2}})^{\frac{1}{3}} = 2^{\frac{1}{4}} \times 2^{\frac{1}{4}} \times 2^{\frac{1}{6}} \times 2^{\frac{1}{6}} = 2^{\frac{1}{4} + \frac{1}{4} + \frac{1}{6} + \frac{1}{6}} = 2^{\frac{1}{2} + \frac{1}{3}} = 2^{\frac{5}{6}}$

$\frac{2^{x+1} + 2^{x+2} + 2^{x+3} + 2^{x+4}}{2^{x-1} + 2^{x-2} + 2^{x-3} + 2^{x-4}} = 2^7 \Rightarrow \frac{2^x(2^2 + 2^3 + 2^4 + 2^5)}{2^{x-4}(2^3 + 2^2 + 2^1 + 2^0)} = \frac{2^x \times 29}{2^{x-4} \times 15} = 2^7$

$$\frac{2^x \times 29}{2^{x-4} \times 15} = 2^7 \Rightarrow \left(\frac{2}{15}\right)^x = \frac{9}{29} = \left(\frac{3}{15}\right)^x \Rightarrow x = 1$$

$$a = \sqrt[4]{9-r} \quad b = \sqrt[4]{9+r} \quad (a^r + b^r - rab)^r (a^r + b^r + rab)^r = t (r, \sqrt{r})$$

$$\begin{aligned} [(a-b)^r]^r [(a+b)^r]^r &= (a^r - b^r)^E = \left[ \sqrt[4]{9-r} - \sqrt[4]{9+r} \right]^r \Rightarrow \left[ \sqrt[4]{9-r} + \sqrt[4]{9+r} \right]^r \left[ \sqrt[4]{9-r} - \sqrt[4]{9+r} \right]^r \\ &= (r\sqrt[4]{9-r} - r\sqrt[4]{9+r})^r = \varepsilon [9+r - r\sqrt{r}] = \varepsilon [1 - \varepsilon\sqrt{r}] = 19 [r - \sqrt{r}] \Rightarrow \boxed{t = 19} \end{aligned}$$

$$a = \sqrt[4]{v - \varepsilon\sqrt{r}} \quad \left(a + \frac{1}{a} + \sqrt{r}\right)^r \left(a + \frac{1}{a} - \sqrt{r}\right)^r = r^E$$

$$\begin{aligned} \left(a + \frac{1}{a}\right)^r - r &= \left(a^r + \frac{1}{a^r} + r - r\right)^r \rightarrow a^E + \frac{1}{a^E} + r = v - \varepsilon\sqrt{r} + \frac{1}{v - \varepsilon\sqrt{r}} + r \\ 9 - \varepsilon\sqrt{r} + \frac{v + \varepsilon\sqrt{r}}{\varepsilon 9 - \varepsilon 1} &= 9 - \varepsilon\sqrt{r} + \frac{v + \varepsilon\sqrt{r}}{1} = 19 = r^E \rightarrow \boxed{t = \varepsilon} \end{aligned}$$

$$\begin{aligned} A &= \sqrt[4]{\varepsilon\sqrt{19}} \left(\frac{1}{r}\right)^{-\frac{\varepsilon}{r}} \rightarrow (rA)^{-\frac{\varepsilon}{r}} \Rightarrow A = (r^r r^{\frac{\varepsilon}{r}})^{\frac{1}{r}} \times r^{\frac{\varepsilon}{r}} = r^{\frac{r}{r}} \times r^{\frac{\varepsilon}{r}} = r^E \\ A = \varepsilon &\rightarrow (rA)^{-\frac{\varepsilon}{r}} = (r^E)^{-\frac{\varepsilon}{r}} = (1)^{-\frac{\varepsilon}{r}} = \frac{1}{r} \rightarrow \text{جواب} \end{aligned}$$

$$\begin{aligned} \sqrt[4]{a} &= r^v a^{\frac{1}{v}} \rightarrow a^{\frac{1}{v}} = r^v a^{\frac{1}{v}} \rightarrow r^v = \frac{a^{\frac{1}{v}}}{a^{\frac{1}{v}}} \rightarrow r^v = a^{\frac{1}{v} - \frac{1}{v}} \rightarrow r^v = \frac{1}{a^r} \Rightarrow \\ \frac{1}{a} &= r^v \sqrt{r} \quad \text{I} \\ \left(\frac{1}{a} - r\right) &= x(1 + \sqrt{r}) \rightarrow x = \frac{\frac{1}{a} - r}{1 + \sqrt{r}} \quad \text{II} \end{aligned}$$

$$x = \frac{r(\sqrt{r}-1)}{1+\sqrt{r}} \times \frac{\sqrt{r}-1}{\sqrt{r}-1} = \frac{r(\sqrt{r}-1)(\sqrt{r}-1)}{r-1} = \frac{r(r-\sqrt{r})}{r} = r(r-\sqrt{r}) = 9 - 3\sqrt{r}$$

$$\begin{aligned} \sqrt{x+a} - \sqrt{x-\varepsilon} &= r & \sqrt{x+a} + \sqrt{x-\varepsilon} - r &= ? \\ A - B &= r & A + B - r &= ? \end{aligned}$$

$$A^r = x+a, \quad B^r = x-\varepsilon \rightarrow A^r - B^r = (x+a) - (x-\varepsilon) = a + \varepsilon$$

$$\begin{aligned} A+B &= k \rightarrow r^k = a + \varepsilon \rightarrow k = \frac{a + \varepsilon}{r} \xrightarrow{\text{جواب}} \frac{a + \varepsilon}{r} = \frac{r^k}{r} = \frac{a + \varepsilon}{r} \end{aligned}$$